itk ez 1 (20224 A 1 H (&) Hodv)

STIEBEL ELTRON

[EREE IF Al e =
SHC—10 38, 500 45, 000 6, 500
SHC—15 42, 000 47, 000 5, 000
SHC—2 2 66, 000 73, 000 7,000
HFTempra8P 1 us (200V,8kW) 184, 000 202, 000 18, 000
HFHTempralOP 1 us (200V,10kW) 194, 000 213,000 19, 000
HTempral3P 1 us (200V,13kW) 236, 000 260, 000 24, 000
HTempral6P1us (200V,16kW) 278,000 300, 000 22,000
HTempra20P 1 us (200V,20kW) 310, 000 320, 000 10, 000
HTempra22bP 1 us (200V,25kW) 373,000 400, 000 27,000
DHM—4 32, 000 38, 000 6, 000
DHC—-ES 68, 000 75, 000 7,000
DHC—-E®6 68, 000 75, 000 7, 000
DHB—E 18/21/24 LCD 120, 000 132, 000 12, 000
DHB—E 27 LCD 120, 000 132, 000 12, 000
SHF—=2000 J (Wi 6) 186, 000 198, 000 12, 000
SHF—=3000 J W/ 9 218,000 233,000 15, 000
SHF—=4000 J (Wi 12) 263, 000 279, 000 16, 000
SHF—=5000 J (Wh 15) 301, 000 322,000 21, 000
SHF—=6000 J (Wh 18) 345, 000 368, 000 23, 000
SHF—=7000 J (i 21) 380, 000 408, 000 28, 000
SHF—20007] /T W/ 6) 186, 000 198, 000 12, 000
SHF—30007] /T W/ 9) 218,000 233,000 15, 000
SHF—4000]/TW/ 12) 263, 000 279, 000 16, 000
SHF—-5000 ] /T W 15) 301, 000 322,000 21, 000
SHF—=6000 ] /T Wi 18) 345, 000 368, 000 23, 000
SHF—=70007]/T W/ 21) 380, 000 408, 000 28, 000




ifsoEsR 2 (202248 A 1 H () Hmo k)

STIEBEL ELTRON

[EERE IF Al A =
LT-50EcoS1imSK 175, 000 188, 000 13, 000
LT-50EcoS 1 imWK 175, 000 188, 000 13,000
LT-50EcoS 1 imBK 175, 000 188, 000 13, 000
LT-50EcoS1imCBK 175, 000 188, 000 13, 000
LT-50EcoS1imSDK 185, 000 198, 000 13, 000
LT-50EcoS 1 imWDK 185, 000 198, 000 13, 000
LT-50EcoS1 imBDK 185, 000 198, 000 13, 000
LT-50EcoS1 imCBDK 185, 000 198, 000 13, 000
LT-50EcoS1 imSDFK 195, 000 209, 000 14, 000
LT-50EcoS1 imWDFK 195, 000 209, 000 14, 000
LT-50EcoS]1 imBDFK 195, 000 209, 000 14, 000
LT=50EcoSK 160, 000 171, 000 11, 000
LT=50EcoWK 160, 000 171, 000 11, 000
LT=50EcoBK 160, 000 171, 000 11, 000
LT=50EcoCBK 160, 000 171, 000 11, 000
LT=50EcoSDK 170, 000 182, 000 12, 000
LT=50EcoWDK 170, 000 182, 000 12, 000
LT=50EcoBDK 170, 000 182, 000 12, 000
LT=50EcoCBDK 170, 000 182, 000 12, 000
LT=50EcoSDFK 180, 000 193, 000 13, 000
LT=50EcoWDFK 180, 000 193, 000 13, 000
LT=50EcoBDFK 180, 000 193, 000 13, 000
LT=50EcoFlatsSK 167, 000 180, 000 13, 000
LT=50EcoF1atWK 167, 000 180, 000 13, 000
LT=50EcoF1latBK 167, 000 180, 000 13, 000
LT—=50EcoFlatCBK 167, 000 180, 000 13, 000
LT—=50EcoFlatSDK 177, 000 190, 000 13,000
LT—50EcoF1latWDK 177, 000 190, 000 13, 000
LT—50EcoFlatBDK 177, 000 190, 000 13, 000
LT—50EcoFlatCBDK 177, 000 190, 000 13, 000
LT—50EcoFlatSDFK 187, 000 200, 000 13, 000
LT—50EcoF1latWDFK 187, 000 200, 000 13, 000
LT—50EcoFlatBDFK 187, 000 200, 000 13, 000




STIEBEL ELTRON

LWZ—-70E 325,000 350, 000 25, 000
LWZ—-280 600, 000 645, 000 45, 000
LWZ—-=280]JE 700, 000 750, 000 50, 000
LWZ—-130] 340, 000 365, 000 25, 000
LWZ—-130JE 340, 000 365, 000 25, 000




